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Q.1.A Choose the correct alternative. 

i) b) parallel to each other 

ii) b) 25 cm                         

iii) a) Equilateral triangle                                        

iv) b) (3, 4, 5) 

Q.1.B Solve the following questions. 

i) PR × PS = PQ2  ……[Tangent secant segments theorem] 

∴ 8 × PS = 122 

∴ 8 × PS = 144 

∴ PS = 
144

8
 

∴ PS = 18 units 

ii) In ∆ABC, DE ∥ BC                 …….[Given]  

∴ 
AD

DB
 = 

AE

EC
     ……[Basic Proportionality theorem] 

∴ 
3

4
 = 

6

EC
 

∴ EC = 
6 × 4

3
 = 8 cm 

iii) Diagonal of a square = √2 × side 

                                  = √2 × 10 

                                  = 10√2 cm 

iv) 1 m3 = 1000 litres 

∴ Capacity of reservoir = 86.24 × 1000 = 86240 litres 

Q.2.A Complete the following activities. (Any two) 

i) line l ∥ X-axis 

Slope of line l = 
3−3

2−1
 =        

∴ Slope of any line parallel to X-axis is  

line n ∥ Y-axis 

Slope of line n = 
3−2

−1−(−1)
 = 

1

0
 =                           

∴ Slope of any line parallel to Y-axis 

  

ii) 

 

0 

Zero 

Not defined 

cannot be defined 



iii) 

 
Q.2.B Solve the following questions. (Any four) 

i) 

 
ii) Given: For the cuboid, 

            Length (l) = 44 cm, breadth (b) = 21 cm, 

            height (h) = 12 cm 

            For the cone, height (H) = 24 cm 

To find: Radius of base of the cone (R). 

Volume of cuboid = volume of cone 

∴ l × b × h = 
1

3
 𝜋R2H 

∴ 44 × 21 × 12 = 
1

3
 × 

22

7
 × R2 × 24 

∴ R2 = 
44 × 21 × 12 × 3 × 7

22 × 24
  

∴ R2 = 21 × 21 

∴ R = 21 cm                ………[Taking square root of both sides] 

∴ The radius of the base of the cone is 21 cm. 

iii)  MRPN is a cyclic quadrilateral.         …….[Given] 

∴ ∠R + ∠N = 180°    ……[Theorem of cyclic quadrilateral] 

∴ 5x – 13 + 4x + 4 = 180 

∴ 9x – 9 = 180 

∴ 9x = 189 

∴ x = 
189

9
 

∴ x = 21 

∴ ∠R = 5x – 13  

         = 5 × 21 – 13  

         = 105 – 13 = 92° 

   ∠N = 4x + 4  

         = 4 × 21 + 4  

         = 84 + 4 = 88° 

∴ m∠R = 92° and m ∠N = 88° 

iv) In ∆PQR, point S is the midpoint of side QR.               ………[Given] 

∴ PQ2 + PR2 = 2 PS2 + 2 SR2         ………[Apollonius theorem] 

∴ 112 + 172 = 2 (13)2 + 2 SR2 

∴ 121 + 289 = 2(169) + 2 SR2 

∴ 410 = 338 + 2 SR2 

∴ 2 SR2 = 410 – 338  



∴ 2 SR2 = 72 

∴ SR2 = 
72

2
 = 36 

∴ SR = √36             ……….[Taking square root of both sides] 

         = 6 units 

Now, QR = 2 SR         ………[S is the midpoint of QR] 

                = 2 × 6 

∴ QR = 12 units 

v) Here, (𝑥1, 𝑦1) = (22, 20), 

          (𝑥2, 𝑦2) = (0, 16) 

Let the co-ordinates of the midpoint be (x, y). 

∴ By midpoint formula, 

x = 
𝑥1 + 𝑥2

2
 = 

22 + 0

2
 = 11 

y = 
𝑦1 + 𝑦2

2
 = 

20 +16

2
 = 

36

2
 = 18 

∴ The co-ordinates of the midpoint of the segment joining (22, 20) and (0, 16) are (11, 18). 

Q.3.A Complete the following activities. (Any one) 

i) 

 

 
ii) 

 



Q.3.B Solve the following questions. (Any two) 

i) Given: For the cylindrical roller, diameter (d) = 120 cm, height (h) = 84 cm,  

Number of rotations required to level the ground = 200 

Rate of levelling = Rs. 10 per m2 

To find: Expenditure of levelling the ground. 

Diameter of roller (d) = 120 cm 

∴ Radius of roller (r) = 
d

2
 = 

120

2
 = 60 cm 

∴ Curved surface area of roller = 2πrh 

                                                  = 2 × 
22

7
 × 60 × 84 

                                                  = 2 × 22 × 60 × 12 

                                                  = 31680 cm2 

                                                  = 
31680

100 × 100
 m2  ….[∴ 1 m = 100 cm] 

                                                  = 3.168 m2 

Now, area of ground levelled in one rotation = 3.168 m2 

∴ Area of ground levelled in 200 rotations = 3.168 × 200 

                                                                    = 633.6 m2 

Rate of levelling = Rs. 10 per m2 

∴ Expenditure of levelling = 633.6 × 10 

                                           = Rs. 6336 

∴ The expenditure of levelling the ground is Rs. 6336. 

ii) 

 

 

 



iii) 

 
iv) 

 
Q.4 Solve the following questions. (Any two) 

i) Radius of spherical ball (r) = 3 cm 



Volume of one sphere = 
4

3
 𝜋𝑟3 

                                    = 
4

3
 × π × (3)3 

                                    = 
4

3
 × π × 27 = 36π 

∴ Volume of 14 spheres = 14 × 36π = 504π 

   For cylindrical jar, 

   radius (R) = 10 cm, height (H) = 15 cm 

   Volume of water in the jar = πR2H = π × (10)2 × 15 = 1500π 
Total volume of water + Volume of 14 spheres 
 = 1500π + 504π = 2004π 
Let the new height of water be h 
Volume of water in the cylinder when spherical balls are immersed = 2004π 
∴ 𝜋𝑟2h = 2004π 

∴ h = 
2004

r2  = 
2004

(10)2 

∴ h = 
2004

100
 = 20.04 cm 

∴ New level upto which water is filled in the jar is 20.04 cm. 
ii) 

 
iii) 

 



 
Q.5 Solve the following questions. (Any one)  

i) 

 



ii) 

 
   


